
SAP ABAP table Q000 {Condition Table for Acct.Determination: $}

Q000

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

VAKEY [CHAR (100)]

CHOBJ [CHAR (6)]

OIRECH

MANDT [CLNT (3)]

CHOBJ [CHAR (6)]
 Q000-CHOBJ = OIRECH-CHOBJ 0..N

1

T000

MANDT [CLNT (3)]
 Q000-MANDT = T000-MANDT 

0..N

0..N

T681Z

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

 Q000-KAPPL = T681Z-KAPPL 

0..N

0..N

T685

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

 Q000-KSCHL = T685-KSCHL 

0..N

0..N


